
Year 3 Arithmetic quiz

Week 2



Year 3 Arithmetic quiz

1. 16 + 9 = 

2. 100 – 15 =

3. 814 + 60 =

4. What is the sum of 5, 10 
and 8?

5. 724 – 381 =

6. 400 + 60 + 21 = 

7. 488 + 107 = 

8. 36 ÷ 3 =

9. What is the difference 
between 22 and 18?

10. 22 ÷ 5 =

11. Double 12 and subtract 7

12. 321 + 144 – 60 = 



Scroll down for answers…



Year 3 Arithmetic quiz

1. 16 + 9 = 25

2. 100 – 15 = 85

3. 814 + 60 = 874

4. What is the sum of 5, 10 
and 8? 23

5. 724 – 381 = 342

6. 400 + 60 + 21 = 481

7. 488 + 107 = 595

8. 36 ÷ 3 = 12

9. What is the difference 
between 22 and 18? 4

10. 22 ÷ 5 = 4 r 2

11. Double 12 and subtract 7 
17

12. 321 + 144 – 60 = 405


